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Who among the following was contemporary Chalukya King of Harshvardhan ?
(a) Shashank (b) Pulkeshin Second (c) Bhaskarvarman (d) Grihvarman

Who among the following is the pioneer of Dola-Palki Movement ?

(a) Bhakt Darshan (b) Baldev Singh Arya

(c) Jayanand Bharti (d) Hari Prashad Tamta

Who among the following is the author of book — ‘Memoirs of the Raj : Kumaon (1911-1945) ?
(a) H.G. Walton (b) G.R. Williams (c) R.S. Toliya (d) G.R.Kala

Which of the following is not the unit of weight and measurement prevalent in ancient
Uttarakhand ?

(a) Mana (b) Patha (c) Naali (d) Chhapeli
Which of the following place is also known by the name ‘Dhanushtirtha’ ?
(a) Badrinath (b) Tehri (c) Uttarkashi (d) Srinagar (Kashmir)

Who among the following official was responsible for keeping the records of land in the
Katyuri Administration ?

(a) Prabhatar (b) Kshetrapal (c) Pattakoshcharik (d) Khandpati
Who among the following is popularly known by the name of ‘Garhkesari’ ?

(a) Hemwati Nandan Bahuguna (b) Ansuya Prashad Bahuguna

(¢) Chandra Singh Garhwali (d) Baldev Singh Arya

The infamous Tilari incident of Tehri Kingdom occurred on the bank of which of the
following river ?

(a) Tons (b) Bhagirathi (c) Yamuna (d) Nayar
In which year was the Kumaun Parishad founded ?

(a) 1909 (b) 1910 (c) 1916 (d) 1920
Who was the first president of Uttarakhand Kranti Dal (U.K.D.) ?

(a) D.D. Pant (b) Madan Mohan Nautiyal

(c) Kripal Singh Rawat (d) Indramani Baduni

Who among the following played the significant role in establishing Gandhi Ashram at
Chanonda (Almora) ?

(a) Shantilal Trivedi (b) Kushiram

(c) Mohan Singh Mehta (d) Govind Ballabh Pant

Who among the following is the writer of the book “Nanda ke Jager” ?

(a) Basanti Bisht (b) Manjula Jugran (¢) Kusum Rani (d) Radha Mandola
Chaunfulla is a kind of

(a) Ornaments (b) Inscription (c) Dance (d) Clothes
Which out of the following is not a form of dance ?

(a) Jhoda (b) Chanchari (c) Binai (d) Thadiya
Who founded “Parvatiya Kala Kendra” in 1968 at Delhi ?

(a) Mohan Upreti (b) Shekhar Pathak (c¢) Ajay Rawat (d) D.D. Sharma
What type of folk song is ‘Bajuband’ ?

(a) Worshipping diety (b) War song

(c) Farmer’s song (d) Love song

At which place the first session of All India-Kisan Sabha was organised ?
(a) Allahabad (b) Calcutta (¢) Lucknow (d) Patna
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1. Trafafaa § @ =6 avasdq &1 aueeia =T T o1 ?
(a) I (b) qorehldM fgdim  (c) WeahtadH (d) TeaHa
2. freferRaa & & fora =afa <A1 SietT-uTesh! 3Ticiei T FFUR AT ST 2 7
(a) Werd €T (b) Saca g 3 (c) SEH AR (d) B SEmg TR
3. frAfetfaa & @ s “dirsred 31 ¢ U : A (1911-1945) THih % A@H & 7
(a) TS aeed  (b) SR, fafermd  (¢) Imwm. Ao (d) .3, sren

4. Tym=ifeRa o @ S yr=iH IT@ve § =iferd 579 3 diel ol ghTs Tl @ 7

(a) AT (b) dT (c) et (d) Buet
5. frafefaa o @ form wom 1 ‘gquediel’ @ @ ft ST R ?
() SEFTA (b) =l (c) STrehreft (d) R (HeR)
6. Trafciiaa & & A a1 STt el TeTe | Y- SA1er@l o Te@E o 7w STerd o1 ?
(a) THTHR (b) &= (c) USHITENH (d) @ueafd
7. T=fafea d @ &R “Tehadl” Tm A ufag ® ?
(a) Tl T2 o (b) ST S ST
(c) = fig Teaedt (d) seice o 3w
8. Tl faraa =1 $ema faeret e Fiferd § & fopg At qe gam o 7
() T (b) et (c) F (d) IR
9. foru ad o Hurs; ufteg 6t T 58 oft ?
(a) 1909 (b) 1910 (c) 1916 (d) 1920

10.  3ITUEUE Hifd G (.. E1.) o JH FFG HH I 7
(a) S8 ud (b) T Higd A (c) PO RETEd () SHET G

11. =i (3TeHTen) | et 37em i wuren § Friford # & forem wewyet yifteer fwmh ¢

(a) wmifeeme Bt (b) Eefm (c) U g dgar  (d) Tiifere soor ud
12. frefafea 8 @ &9 “Twa1 & SR g 6 Afgsh 8 7

(a) SE=dfome  (b) HSe FRA (c) HgaTH (d) TrEm A
13. <Gl Ush €9 /I 8

(a) STTET T (b) JANTAE (c) AR (d) I8
14. FEfREa 4 H & TIA R IR @ 7

(a) #eT (b) ==l (c) foomg (d) gfgan
15. 99 1968 H fecett § “Ueid T shell heg” <hl TTOAT fore <t ?

(a) HIE It (b) T I3H (c) 3T Teid (d) .. 3wt
16. ‘SToEe’ fohd TR T eAtehiiia B ?

(a) <5 (b) I (c) ek fid (d) or Tfi
17.  ARGd IR fRaT 99T 31 Tom 3Tee R T W 3TN 3T o7 ?

(a) 3TRTETG (b) hetehdl (c) €T (d) Yedt
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At which of the following place the famous “Thal fair” is organised ?

(a) Almora (b) Pithoragarh (c) New Tehri (d) Chamoli
Which of the following is not a glacial topography landform ?

(a) Cirque (b) Arete (c) Horn (d) Barchan
Select the right pair from the following :

(a) Karst — Yugoslavia

(b) Karst — U.S.A.

(¢) Glacial — Yugoslavia
(d) Aerial — Mongolia

Which of the following river doesn’t form Delta ?

(a) Narmada (b) Godavari (c) Ganga (d) Cauvery
Deccan Lava flow occurred at end of era.

(a) Permo Carboniferous (b) Mesozoic

(c) Tertiary (d) Permian

Which of the following Ghats have been arranged from North to South direction ?
(a) Thalghat, Bhorghat, Palghat (b) Palghat, Thalghat, Bhorghat

(c) Palghat, Bhorghat, Thalghat (d) Bhorghat, Thalgat, Palghat

What is the name of Border Line between India and Pakistan ?

(a) Dharkot Line (b) McMahon Line (¢) Durand Line (d) Radcliffe Line

Which of the following state has the lowest literacy rate as per census 2011 ?
(a) Rajasthan (b) West Bengal (c) Andhra Pradesh (d) Bihar

Which one of the following states has the highest population density as per 2011 census ?

(a) Uttar Pradesh (b) Kerala (c) Bihar (d) West Bengal

The “Kumbh Mela” is held at

(a) Haridwar, Prayagraj, Ujjain & Varanasi
(b) Haridwar, Prayagraj, Nashik & Ujjain
(c) Haridwar, Prayagraj, Nashik & Howrah
(d) Haridwar, Prayagraj, Nashik & Mathura

Which are the four largest states of India in ascending order based on geographical area ?

(a) Maharashtra, Uttar Pradesh, Madhya Pradesh and Rajasthan
(b) Uttar Pradesh, Maharashtra, Madhya Pradesh and Rajasthan
(c¢) Rajasthan, Madhya Pradesh, Maharashtra and Uttar Pradesh
(d) Rajasthan, Maharashtra, Madhya Pradesh and Uttar Pradesh

29. Match List-I with List-II and then choose right answer using the codes given below :
List-I List-11
(Fair) (Place)
A. Dungal i.  Joshimath
B. Timundya ii.  Pauri
C. Bhadraraj iii. Champawat
D. Ladi Dhura iv. Mussoorie
Code :
A B C D
(@) v i il i
(b) 1 i i iv
(c) 1 1 v i
(d m v 1 1
Sereci Fa— _ e
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30. Which one of the following pair is not correctly matched ?

(a) Govind National Park — Uttarkashi

(b) Askot Wild Life Sanctuary — Pithoragarh

(¢) Sonanadi Wild Life Sanctuary — Almora

(d) Valley of Flowers — Chamoli
31. Sunderdhunga glacier is located in .

(a) Almora District (b) Bageshwar District

(c) Champawat District (d) Pithoragarh District
32.  Which of the following pair is not correctly matched ?

(a) Beni Tal — Chamoli

(b) Khurpa Tal — Nainital
(c) Masar Tal — Tehri
(d) Vasuki Tal — Pauri

33. Aspercensus 2011 female literacy rate in Uttarakhand is :

(a) 68.01% (b) 78% (c) 70.01% (d) 79%
34. Which district of Uttarakhand has highest percentage of rural population as per census 2011 ?
(a) Almora (b) Uttarkashi (c) Bageshwar (d) Haridwar
35. In which two districts of Uttarakhand had negative population growth as per census 2011 ?
(a) Chamoli — Tehri Garhwal (b) Almora — Pauri Garhwal
(¢) Chamoli — Rudraprayag (d) Dehradun — Haridwar
36. In which of the following district ‘Indian Institute of Petroleum’ is located ?
(a) Haridwar (b) Udham Singh Nagar
(c) Dehradun (d) Champawat
37. Maneri Bhali dam project is constructed on which river ?
(a) Alaknanda (b) Tons (c) Bhagirathi (d) Bhilangana
38. Where is Anduri Utsav (Butter Festival) celebrated in Uttarakhand ?
(a) Dayara Bugyal (b) Bedni Bugyal
(c) Pawali Kantha Bugyal (d) Manag Bugyal

39. In “Pradhanmantri Matritava Vandana Yojana — PMMVY™, if second child is a girl; then
how much money is given to the beneficiary ?
(a) 6,000 (b) ¥ 2,000 (c) ¥5,000 (d) 12,000

40. As per census 2011, which of the following state has highest sex-ratio ?
(a) Uttarakhand  (b) Arunachal Pradesh(c) Himachal Pradesh (d) Meghalaya

41. Which is the smallest district of Uttarakhand on the basis of Geographical area ?

(a) Champawat  (b) Rudraprayag (c) Bageshwar (d) Haridwar

42. Match the following and choose the correct answer from the codes given below :
List-I List-11

A.  State Animal 1. Monal

B.  State Bird ii.  Brahm Kamal

C. State Flower iii. Rhododendron

D. State Tree iv. Musk Deer

Code :

A B C D
(@) iv i i i

(b) iv i i i
(¢) iv i i il
(d i i v
43. Which of the following district does not share boundary with Uttar Pradesh ?
(a) Udham Singh Nagar (b) Haridwar
(¢) Dehradun (d) Tehri Garhwal

Seriesik c B e o



30.

31.

32.

33.

34.

3S.

36.

37.

38.

39.

40.

41.

42.

43.

JSD

71 4 9 o1 |1 7 g 98 gAfaa T8 & 7
(a) TN TS 3e _ I

gt ferg FfR@e |

(a) FAHGISHIE (b) SFIFE SIS (c) =HTEd UG (d) TueiirTg Svg
= & @ o T et wE gafera T8 & 2

(a) Srar — =Hrel

(b) Gaida@  — A

(c) UERa - fegd

(d) IgRIaE  — Ui

T 2011 I FHVHTTHR TGS H AfEGeAT HIERAT T 2

(a) 68.01% (b) 78% (¢) 70.01% (d) 79%
SFATUET 2011 3 STTER, STRGUE o fohd STUE H Taiiereh TTHIUT SHEEAT T 8 ?
(a) ITcHTST (b) Ierepreft (c) SR (d) &fER
ITTEUE & Tohdt g1 TeT1 § SFTOMT 2011 o STTER ThRIcHS TG &l 8 ?

(a) = — fogd AT (b) 3TcHIe — Uil TeaTd

(c) =HIelt — TGS (d) 2eTeT — Efgr

1 1 @ fopm g § vt Sgiforem wee™ fRa ® v

(a) BGR (b) 3umfag TR (c) Sted (d) =wTEd
T et &fy fEe fh T W & 7

(a) TR (b) a4 (c) wmfieeft (d) e

IS T 3G 306 (FoE ATER) FHal T Sl 3§ ?
(a) @A A (b) sl g (c) et hidl TR (d) TN ST
“SUTTHA AT 61 AT — PMMVY” 8 9fe gardt G stforeht &, d wreff s feet et

frerdft 8 2
(a) 6,000 (b) % 2,000 () ¥5,000 (d) % 12,000

WWHT2011%533|§13|'R wﬁwmwwﬁmﬁﬁﬁﬁﬁﬁqw%?
(a) ITEUS (b) RIS T ORLIEER (d) e
ﬁﬁmm%wwmwww@@ﬁawaﬁqm%?

(a) =THTEd (b) BZIATT (c) TR (d) BNgR
=1 =1 e S w@ el ol T el o 9 98 S
-1 FR-11
A, T i, OE
B. TsHusd ii. S HAA
C. TIUH iii. sOW
D. TsI9& iv. &g
& A B C D
a) 1v 1 11 i
Eb) v i ii iii
(c) iv 11 1 111
%1_2:’ 1ii
ﬁ@ﬁmwwm%mmﬂmwﬁ?ﬂm% ?
@ TR ) 'BeR @ @ (@) feglimgaa
7 Series-A



44. Districts are arranged in descending order in terms of geographical area, choose the correct
option :
(a) Uttarkashi, Chamoli, Pithoragarh, Pauri
(b) Chamoli, Uttarkashi, Pauri, Pithoragarh
(c¢) Chamoli, Uttarkashi, Pithoragarh, Pauri
(d) Chamoli, Pithoragarh, Uttarkashi, Pauri

45. Which of the following rivers forms the boundary between Uttarakhand and Himachal

Pradesh ?
(a) Ganga — Bhilangana (b) Tons — Yamuna
(c) Kosi—Ramganga (d) Kali— Saryu
46. Name of first major tributary of the river Indus :
(a) Zaskar (b) Dhar (¢) Shyok (d) Gilgit
47. Dhauliganga, Nandakini and Mandakini are the tributaries of which river ?
(a) Bhagirathi (b) Yamuna (c) Kali (d) Alaknanda

48. According to “India State of Forest Report 2019”, which of the following district has highest
“Forest Cover” to total geographic area (in percentage) ?
(a) Almora (b) Dehradun (¢) Rudraprayag (d) Tehri Garhwal

49. Identify the correct article under which Indian Constitution provides for the ‘Control” of the
High Court over the sub-ordinate judiciary.

(a) Article 124 (b) Article 217 (c) Article 235 (d) Article 239
50. Article 243-K of Indian Constitution deals with which provisions of Panchayats ?
(a) Constitution of Panchayats (b) Composition of Panchayats

(c) Power to impose taxes by Panchayats (d) Panchayat Elections

51. National Commission for Protection of Child Rights (NCPCR) under CPCR Act, 2005
defined children as persons belonging to which age group ?
(a) 0-14 age group (b) 0-16 age group  (c¢) 0-18 age group  (d) 0-21 age group

52. In which year, the National Commission for Women (N.C.W.) was established ?

(a) 1990 (b) 1992 (c) 1993 (d) 1995
53. Identify the incorrectly matched pair :
(a) Article 106 — Salaries and allowances of members of Parliament

(b) Article 110 — Definition of ‘Money Bill’
(c) Article 102 — Disqualification of membership of Parliament
(d) Article 118 — Appropriation Bills

54. Which one of the following pairs (Schedule-Subjects) is not correctly matched ?

(a) Third Schedule — Formats of Oaths or affirmations

(b) Eighth Schedule — Languages

(¢) Ninth Schedule — Allocation of seats in council of states

(d) Tenth Schedule — Provisions as to disqualification on grounds of defection
55. Who was the permanent chairman of the Constituent Assembly in Independent India ?

(a) B.R. Ambedkar (b) Jawaharlal Nehru

(c) Rajendra Prasad (d) Sacchidanand Shastri
56. When is “Panchayat Raj Day” is celebrated ?

(a) 15" August  (b) 24" April (c) 14" November  (d) 26™ January
57. Which of the following tribe is not found in Uttarakhand ?

(a) Jaunsari (b) Tharu (c¢) Raji (d) Gond
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“TErrerd Tt feed” el BT ST g 7
(a) 15 3FTEd (b) 24 31 (c) 14 TawR (d) 26 S

=1 1 @ i € SHeTd SauEve § 78 918 S g ?

@ Qs (@ T (@) e
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S8.

59.

60.

61.

62.

63.

64.

65.

66.

67.

68.

69.

70.

71.

72.

73.

Under which Constitutional Amendment Act, the total number of Ministers, including the
Prime Minister, in the Union Council of Ministers shall not exceed fifteen percent of the
total number of members of “the house of people” ?

(a) 84™ Amendment Act, 2001 (b) 87™ Amendment Act, 2003

(c) 90™ Amendment Act, 2003 (d) 91% Amendment Act, 2003

In which among the following states “Meitei People” do not reside ?

(a) Assam (b) Sikkim (c) Meghalaya (d) Nagaland
Which one among the following is incorrect about Indo-Pacific region ?

(a) 30% world GDP by 2040 (b) 50% global greenhouse gas emissions
(c) 65% world’s population (d) 37% world’s poor

India on February 22, 2023 ratified Chicago convention which deals with :

(a) Climate Action Plan (b) Food and Agriculture Production
(c) International Civil Aviation (d) Nuclear Non-Proliferation

The 27" edition of Naval exercise MALABAR-2023 was organised on the coast of :
(a) Tokyo (Japan) (b) Sydney (Australia)

(¢) Cochin (India) (d) Singapore (Singapore)

Name the country whose President conferred upon Indian Prime Minister Narendra Modi
with ‘The Grand Cross of the Order of Honour”.
(a) Greece (b) Australia (c) UK. (d) France

World‘s first international summit ‘REAIM 2023° on responsible use of artificial
intelligence in the military was held in :

(a) Paris (France) (b) Seol (South Korea)

(c) Hague (Netherlands) (d) Vienna (Austria)

Which one among the following is not a member of G-20 after the end of Delhi Summit held
in 2023 ?

(a) European Union (b) Gulf Co-operation Council

(c) African Union (d) Russia

Which is the first state to implement a policy to control blindness with the objective of
ensuring the “right to sight” ?

(a) Manipur (b) Sikkim (c) Rajasthan (d) Uttarakhand
In which state third edition of annual orange festival-2023 was organised ?
(a) Nagaland (b) Mizoram (¢) Manipur (d) Sikkim

Which Indian Cricketer was bestowed with the .C.C. Men’s T-20 cricketer of the year 2023
award ?

(a) Virat Kohli (b) Surya Kumar Yadav

(c) Rohit Sharma (d) Shubhman Gill

Where did the ‘Vajra Prahar-2023’ Indo-US, Joint Military exercise held recently ?

(a) Meghalaya (b) Kerala (¢) Sikkim (d) Arunachal Pradesh

Who became the first Indian woman to win the International Emmy Awards in 2023 ?
(a) Ekta Kapoor (b) Kareena Kapoor (c) Janhvi Kapoor (d) Yami Gautam

In which year Deen Dayal Antyodaya Y ojana — National Rural Livelihood Mission was launched ?
(a) 2005 (b) 2010 (c) 2011 (d) 2014

Manoj Sarkar is awarded with “Devbhoomi Uttrakhand Khel Ratna” for which year ?

(a) 2017-2018 (b) 2018-2019 (c) 2019-2020 (d) 2020-2021

What are the nominated members of the Municipal Corporation called ?
(a) Councillor (b) Mayor (c) Deputy Mayor (d) Alderman
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S8.

59.

60.

61.

62.

63.

64.

65.

66.

67.

68.

69.

70.

71.

72.

73.

JSD

IR o fopm Tfaam aem srfifem o 98d sg 9= uftg o Jamwsh o @1 $a 9= 6
TN, “ArHENT” o el TG hl HE&AT o Ugg Ifwrd ¥ SATeT el 3l Tehell 3 7

(a) 84ar gumneH fafrm, 2001 (b) 87aT GuneH AfafrEm, 2003
(c) 90aT TEMeH ferf=m, 2003 (d) 91aT TEmeH Aferf=m, 2003
freaferfiea & @ form = § “Bft T S A TEI @A & 7

(a) 3TEH (b) Tafern (c) e (d) ANTAvS
Fr=faRaa o @ %9 o1 weF fEg-Twrd (31-98 %) ST F IR T TeId & ?

(a) 2040 d faga & 30% ... (b) 50% afTaes MiERE 19 I
(c) 65% fava &t SE=n (d) 37% fova & e

22 Eardl, 2023 1 WA 3 Riebrit e i sigsie fhan et gy 3

(a) W%ﬁ?ﬂw (b) 3T TH HiY IeuTe

(c) SFAARST AW formm= (d) T FIER

fora 291 & T¢I AT 37TH HTATER-2023 5 279 GEHTU kT ITRSH foham T ?

(a) T (AUF)  (b) Fret (HATEfeR)  (c) I (W) (d) e (fEmgR)

méﬁém@;qﬁrﬁwﬁaqwﬁﬁaﬁaﬁ‘aﬁtaﬁamaaﬁtmm’ﬁwﬁﬁ
)

(a) H= (b) Fegfern (c) I3 (d) ™

g T 9a1 Sal fava s Yo SIS e amat ‘3TR.3.T.378. T, 20237 641 § $bm 7=

o G TR T ATAISH §3TT 7 |

(a) T () (b) Taatrer (gferor sifam)

(c) & (Freteiem) (d) e (sAifegam)
Fr=faRea o @ & fooeht & G-20 (Sf.-20) st F3M@R 3 2023 o IUA $HHT T T&1 © 7
(a) A IH=A (b) T SHISTTRIM hiTered

(c) TSI I (d) &7

“Tge ¢ W18 ol GRITTHd i o Igevd A e fermror ifdr =61 o] 5 aret vgell TS A 8 7
(a) AT (b) Tafern (c) TSEIH (d) STETS
Torm U= a1ftier HaU HEIEE-2023 ohT E &R RIS fohaT TR 7

(a) TS (b) fire (c) TR (d) Taferm

forg sl fomehet =1 3. 2t =Y. =g d1-20 Torehet 3ATh € $AT-2023 | TS T 7

(a) TR ®EA (b)) TPFIR ATeE (c) Ufga st (d) I e
TS TER-2023° WA~ STHIehT T A= 31 31eft &1t § hal ga 7

(a) TETT (b) A (c) Taferm (d) TR T
FASE THY 37a1E-2023 SfiaH aTeft ugeft Wi afgen i 7 2

(a) Thal B (b) T I (c) gl HP (d) amft Mam
Toper o ieaTet TeiTe Ao — i reftor SArsfiferent firerm 3y g8 7

(a) 2005 (b) 2010 (c) 2011 (d) 2014

TS TR I “Cafl ITEvE el T & fohet o o forat st femerm o 2

(a) 2017-2018  (b) 2018-2019 (c) 2019-2020 (d) 2020-2021
T T o AT Hes o hEelld @ 7

(a) UG (b) TETIR (c) SU-WETIR (d) TesTH
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74.

75.

76.

77.

78.

79.

80.

81.

82.

83.

84.

Reena is twice as old as Sunita. Three years ago, she was three times as old as Sunita. How
old is Reena now ?

(a) 6 (b) 7 ©) 8 d) 12

In the following series, find out the wrong term :
0,2,3,5,8,10, 15, 18, 24, 26, 35
(a) 18 (b) 24 (c) 26 (d) 10

In a certain code language, if RED is coded as 6720, then how would GREEN be coded in
that code language ?

(a) 1677199 (b) 1677209 (c) 16717209 (d) 9207716
Ifz—xl =1, then the value of x is :
1+
l+ﬁ
2 1 4 5
a) — b) — c) — d) —
(a) 3 (b) 3 (c) 3 (d) 3

Five children take part in a tournament. Every one has to play with each other. How many
games they must play ?

(a) 30 (b) 24 ) 10 (d) 08
IfE = 5 and HOTEL = 12, then LAMB = ?
(a) 7 (b) 10 (©) 26 (d) 28

If four angles of a pentagon are given in the figure, then fifth angle is equal to :

(a) 190° (b) 145° (c) 295° (d) 195°
What will come at the place of question mark (?) ?

MK : 169 i JH:?

121
100 100 64 81
a) — b) — c) — d) —

®) 64 ®) 81 ()100 ()100
Find the next term of the series :

100, 90, 81, 72.9,
(a) 64.6 (b) 65.61 (c) 66.61 (d) 64.17
For what value of k the points A(2, 3), B(4, k) and C(6, —3) are in a straight line ?
(a) 1 (b) -1 (c) O (d 2
In which city “Rajiv Gandhi Adventure Sports Academy” is located ?
(a) Uttarkashi (b) Chamoli (c) New Tehri (d) Pithoragarh
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75.
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77.

78.

79.

80.
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84.

JSD

1 6t 3 AT T ST 2 | 3 T Tge 3Tt 39 GAtar shi 39 o1 3 AT off | 319 {1 bl 3w
fopaft 2 2

(a) 6 (b) 7 ©) 8 @ 12
FTTRET @ § TTeTd Ug T hIfT -

0,2,3,5,8,10, 15, 18, 24, 26, 35
(a) 18 (b) 24 (c) 26 d 10

fe et e 9T § RED b1 6720 | %fed foham ST 2, df GREEN 1 38 e SIS H hdl i
H 7

(a) 1677199 (b) 1677209 (c) 16717209 (d) 9207716
afe 2xl ~ 18, AxHAAR
1+1+L
2 1 4 5
(2) g (b) 5 (c) g (d) E
5 S U gAHE H W o1d & | Tcieh ohl T GBI o |1Y WM § | 37 fohd W W =gy ?
(a) 30 (b) 24 (c) 10 (d) 08
?ﬁ?EZS\’:ﬁ'{HOTEL:lZ,WLAMB:?
(a) 7 (b) 10 (c) 26 (d) 28

e TS o =R IV Fora § fed 7T &, 1 9ieel v & AF & -
1 2

(a) 190° (b) 145° (c) 295° (d) 195°
¥ Torg (2) % T IR AT AR 7
K: @ JH:?
121

100 100 64 81
(a) a (b) H (c) ﬁ (d) ﬁ
SIuf} <hT ITTAT U AT HIFTT :

100, 90, 81, 72.9,
(a) 64.6 (b) 65.61 (c) 66.61 (d) 64.17
k % Tor® AT o ToTQ fog A(2, 3), B(4, k) 3R C(6, -3) Th T@ W@ H & 7
(a) 1 (b) -1 () 0 (d 2
forg wreR o “Trfia Tifeft argfies Wat srepeHl” fa g ¢
@ &R @) el (9 whed (@) Frerer
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8s.

86.

87.

88.

89.

90.

91.

92.

93.

94.

9s.

96.

97.

98.

99.

The female gamete undergoes development to form new organisms without fertilization is
called :

(a) Embryogenesis (b) Fertilization (c) Pollination (d) Parthenogenesis
Which of the following animals have pectin in their eyes ?

(a) Fish (b) Frog (c¢) Lizard (d) Bird
Which of the following lays eggs and does not produce young ones directly ?

(a) Echidna (b) Porcupine (¢) Kangaroo (d) Shrew
Which of the following metal is not stored in Kerosine oil ?

(a) Lithium (b) Sodium (c) Potassium (d) Lead
Dry ice is

(a) solid NH, (b) solid CO, (c) solid H,0O (d) solid SO,
Which of the following can be beaten into thin sheets ?

(a) Oxygen (b) Sulphur (c) Phosphorus (d) Zinc
Following substance has the highest electrical conductivity :

(a) Tungsten (b) Silver (c) Manganese (d) Mercury

In a computer system the set of wires, which carry information in a controlled manner is
called :

(a) Private bus (b) Public bus (¢) System bus (d) Mobile bus
is the collection of facts gathered by various means or communication.

(a) Management (b) Information (c) Bits (d) Process

Who among the following was the official historian of Indian National Congress ?

(a) Jawahar Lal Nehru (b) B. Pattabhisitaramaiya

(c) Rajendra Prasad (d) Tej Bahadur Sapru

In which language Ibnbatuta wrote his travel account “Rehla” ?

(a) Persian (b) Arabic (c) Turkish (d) Portuguese

Due to which of the following incident Ravindranath Tagore abdicated his title of
‘Nighthood’ ?

(a) Civil Disobedience Movement (b) Kamagatamaru Incident
(c) Jallianwala Bagh Massacre (d) Chauri-Chaura Incident
Which out of the following was not the part of the tripartite struggle held for Kanouj ?
(a) Pala (b) Pratihara (c) Rashtrakuta (d) Chola
Who among the following discovered the ‘Hampi’ ?
(a) Colin Mackenzie (b) Alexander Green Law
(c) James Mill (d) John Malcom
Which of the following pairs is correctly matched ?
Newspaper Year of Publication
(a) Alhilal - 1909
(b) Calcutta Gazette — 1784
(c) Vandematram — 1912
(d) Kesari — 1885

100. Which of the following is not a rabi crop ?

(a) Paddy (b) Wheat (c) Gram (d) Mustard
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8s.

86.

87.

88.

89.

90.

91.

92.

93.

94.

9s.

96.

97.

98.

99.

100.

HTeT ek fo1 fved o 731 Sfia o fwior & foru foshfa g1 &, 39 %ed &

(a) YUSIH (b) == (c) AT (d) AN

fr=1 4 9 fopm yoft <kt siEl d 9fFea Bar @ 2

(a) TSt (b) Teh (c) feuepett (d) ueft

ﬁmﬁ@ﬁqm%ém%waeﬁaﬁwamqﬁém? .

(a) TfeheT (b) HTRATSH (c) & ORELS

fferaa o i i arg <l firgdt o 9t § T @ ST @ 2

(a) <fferm (b) Hifeaw (c) TefsrEm (d) s (HaEm)

T 9% B

(a) 3™ NH, (b) 31 CO, (c) 3™ H,0 (d) 31 SO,

fraferfiga o 9 fergen! diest ydeft et § ufafda foran ST aesmar @ 2

(a) ST (b) HEH (c) BIEHRE ) foe

fferfiaa werd o srfereham ferg =mershan B 2

(a) TA (b) fre=R (c) TS (d) Tt

Ty Foen 1§ aii o1 98 |g S b adieh | SIHehRT o ST 8, 3§ %hed & -

(a) Fftsm (b) HTESIh a8 (c) Tammag ORIEIESED
. ferfir=r Tl o S=IR gRT UehiEa del 1 Gug # |

(a) SSEM (b) g (c) forzm (d) S

FrtaRea o @ $i wrdia Tsda S w1 snftesies sfaamesr o ?
(a) TR A& (b) o, USTREARAAT (¢) Tokg Y& (d) o @I Y

FSTET - ST AE-Fara “Tgen” fore s o forn

(a) WRET (b) 3w (c) ol (d) gamet
freferfiaa § & fore TIeTshT o SR WY HTR A 379 JUTfY A18ege’ ot Im ot
(a) Al TG AT (b) HTHTTITHTE ThTT
(c) AT ST BT (d) =-=T ge
frefafiad 9 @ b 419 < fore gu et e o6 fewa & o 2
(a) T (b) Wi (c) Tsgge (d) =t
frfafea @ @ frem gl Hr@=r 6t 72
(a) HicH At (b) AR I AT (c) S Tt (d) S Ted
frefafaa 9 @ =9 @1 3w ug gofera &
TUER-9 TeRTIE TN
(a) AT - 1909
(b) ThHeTehdl Tl - 1784
(c) HSHTAH, - 1912
(d) HEd - 1885
frafafga o W A waa =R 7

(a) uH (b) g (c) = (d) Wi
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